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(b) what is global warming? Discuss fhe major factors responsible for global 2+4+1:10rvarmi,g. Discuss the contror measures to check globar warming.
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(c) what are non-renervable and renewable energy sources? Explain how the overuse 3+4+3:1gof tton-renewable energy sources may create crisis in future. Briefly discuss theuse ofalternative energy sources to solve energy crisis.
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(d) what do )'ou mean by 'sustainable development,? Discuss the rore of 2+B : r0e,vir.,mentar studies on promoting Sustainable deveropment.
rETft-{ U*rq fficE fr mf+ p r-$fi}fl Udrrc{< R-fl(q aR", frqlf< vfr-st T.rj<ltt o-< r

irunrftq fa=fl-q{ (Sustainable development) trqfd d qGI-6 r ilfltq.{oftq3rL4qrqr wt@T {.q-mt, r froirr q.ti 4qi .ltdq 
I

' I 
.r_urn 

over

t0x2 = 20

of a typical poncl ecosystem with the 2+g = 10

FullMarks: 25
Tirne Allotted: I Hour

l. Answer afiy two questions:
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2. Write short note on atly one of the following:
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(a) Deforestatiotr
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